Math 346 Quiz 2B
February 8, 2016

Name: A N Swé FZ‘S

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.
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1. For the system: b Qo L \0‘-1 1
aix+ a,y = b, 4 ba A4 [ _ Oyl Ge 5\3\9 aby— Ct\'
43X+ 0.y = b, L”" A0y - G4y % { I
Assuming a;a4 — azaz # 0, write down a formula for x = |43 @y , Y= 6\,3 Ay o\lq‘i t3
7 2 3 —7
2. Forthe matrix A = [a;;] = (5 0 —1), what is az, = ?
6 @ T
10 = CER 2 -1 1L 0 0
3. Letd = (3 0 1), B = (—31 i 3 8 = (1 0 ) and D = (0 0 1). Compute the following, or
write “DNE”, for “does not exist”.
< 5 )
(d) B+ 2D = DNE b) AB = CD L{' 31-{
A . = — L =
(c) BA = DNE Wa-3p= \_.=2 O -2
4, Suppose.A and C above were multiplied to find CA. Write the size of the result, or “DNE” if they actually

2_"3

cannot be multiplied:

5. List the square matrices in problem 3. g’; C

6. True or false: Suppose AB is defined. If B has a column of zeros, then AB has a column of zeros. /{"V < ’[‘L\
Justify your answer in prot_iI]em 6. a.,'lr\(/( 2= [glv\nxf’ AS.SUM-E. L, OW\ 1 TL-LJ o

Suppesz A=
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\)* oluvn. 174) '
8. Would your answer to problem 6 change if it were 4 that had the column of zeros? Y'e- b

Bonus: (a) What is tr(C) = —=rg = 2—- ?
(b) Write the system in problem 1 as an augmented matrix below:

Qe
(c) Justify your answer to problem ‘I’ + mtb\} u_-;ok)lcf lo pﬁ/ g
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